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Approach #1

* Testing and training on the 1.0 M 1 11 sample.

Input variable: deltaE_Btag Input variable: p_ltag Input variable: m_RDE
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Approach #1

Testing and training on the 1.0 M 1 11 sample.

TMVA overtraining check for classifier: BDT

{1/N) dN / dx
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I Kelmogorov-Smirnov test: signal {background)j probability = 0.193 (0.123)
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Approach #2

* Testing and training on the 8.9 M 1- generic sample.

Input variable: deitaE_Btag Input variable: p_Itag Input variable: m_ROE
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Approach #2

Testing and training on the 8.9 M 1 - generic sample.

TMVA overtraining check for classifier: BDT Background rejection versus Signal efficiency TMVA

1

T T — T T T T —T T — = Ml | T T T T [ T T T T [T T T T [T T T T [T T T T [T T T T[T T T T[T T T T[T 1711 7]

'E 2.9 _ISignal (lést samplh] "['a Slgrlal (lralnujlg samplé] _: =4 - | l l l 7
E 2 Background (test sample) s Background (training Samp|e) 3 E. 0.9 :— ................................................................................................ ................................................................. _:
2 El(ulmuguruu-ﬁmirnnv test: signal (background) probability = 0.021 (0.225) (3 E E
= 1.8 — O 0.8 S ——— -
= = : ]
e 1-5 g ; : ; : B X H H H :
1.4 ;m 0_7 ................................................................................................ ............ _________________ ____________ _E

1.2 8 o6 BDT area O 695 .......... SN S . -

......MVAM&thod ........ ____________________________________ ................. ...... ............ =
EMLP : : : : : :

0.5
0.8

0.6
0.4
0.2

0.4

——— BDTG

0.3 Flsher

U/O-tlow (S,B): (0.0, 0.0)% / (0.0, 0.0)%

0.2IIII|IIII|IIIllllllillllillllillllillllillll
o1 02 03 04 05 06 07 08 09 1

L=

4).5 04 02 0 02 04 08 )
inct_1edB AT SBSPRNSE. o0 e 2iO0A] RIfiCIENGY, oot



Normalized BDT plots

Approach 1
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Back up
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Approach #1
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nLeplons

Approach #1
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